WINAM GROUP

PARKOUR

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D'INSTALLATION

DATE: 24.2.2015

220551

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP

220551

11)
PARKOUR >
DATE: 24.2.2015 P I— A (
701985  |pcs 702341 PCS 9013991 PCS 902022 |pcs 902134 |pcs 904747 |pcs
5 LAPP;[; %ﬁx g:d 1 2 2 12 35
= 90x50 L 1493 L 710 = 60x60x2
902424 |pcs 904132 |pcs 9042184 PCS PCS PCS PCS
3 5 2
L 1034 L 402 L {493
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP 220551

PARKOUR DATE:  24.2.2015 4

—— + EN/AS Impact +Area 17.2 m2 (185 sq ft) + + + + + + “1.50+ + +

. - ” .
Grid size = 500mm (20" in) O_:|2
- Falling Space 17.2 m2 (185 sq ft)
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + +
+ + + + + + + + + + + + +
+ + + + + + + + + + + + +
+ + + + + + + B + + + [+ + + + + + + +
L
£ G
£l.E
+ + + + + + + + + + + + + + 2+ + + +
O |0
=
— ||
=l
)
—_
+ + + + + + + B + & + |+ + + + T + + +
+ + + + + + + + + + + + +
+ + + + + + + + + + + + +
+ + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
780 mm 780 mm
77 ) » .
[2°=7" inch] [2°~7" inch]
+ + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP 220551

DATE: 24.2.2015
E— EN/AS Impact Area 17.2 m2 (185 sq ft)
1:50
I 2000
- Falling Space 17.2 m2 (185 sq ft) 0 2
Max Falling Height 1430 mm (4'—=9” in)
1770 mm
[5—10" inch]
5
ol—
O~
0| |
T
i :
(= o
£l Elc
ot 1500 mm 1500 mm 3
F);L [4)_111: inch] [4 -1 |nch:| '(3“')
~ —~ TP
. \o/ . —
£|5
eSS
ol
Q|
0| |
T
4630 mm
[15=2" inch]

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP 220551
PARKOUR DATE:  24.2.2015 5A

+1430 [4—-9” inch]

+650 [2'—2" inch]

+170 [7” inch]
+0 [0” inch]

(=)
===

§:\./_\.

—400 [1"—4” inch]

1

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP —
220551 [

rLAY
PARKOUR DATE:  24.2.2015 6

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


A

WINAM GROUP 220551 Ve
PARKOUR S| Ay TOWERZS
DATE:  24.2.2015 7

904184 902424
X2 - X3

e T 7
DEFT)A1R 7T,?9,2o % ’.l,

&

701985
x5

N\
@

g

%
@ i/,fsj;') =

BASE T <\
DET 25,27 D/ A

Lo
(==L
>::j/\441

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


-
WINAM GROUP 220551 Vau

TOWER A

PARKOUR DATE:  24.2.2015 PLAY 7a

@ 1:50

h— (==
>:I.\_/.

o

]
3 -
T I I J

\/ \

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


N
WINAM GROUP 220551 S~

PARKOUR DATE: 24.2.2015 PLAY 8

Max falling height.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP BASE

CLOXX / FINNO ABC DATE:  19.11.2012 1(3)

DET 1 - | ‘ DET 2 DET 3

1 90 (4x)

—
\_’—’_1 A
O
52 %O\%wo%%oo OOO\ ©
<>O :Ogio%o%oouzzzoo O%Jiitz ﬂ
A R AN AR Y O i
Concrete /
Betoni
DET 4 DET 5 DET 6
Betoni /
Concrete =
—\ H |
Azwié% §
= m. v
= L A
o
500:500] -
Harjaterds / Ribbed bar I
(ABOOHW (2x))
DET 7/ DET 9
L
= /@\\ al 1
//y% ¢, \P::
DET 10 DET 11 Yils DET 12 92>

220/10.5

550

Concrete
600x600x250
7

0« Qo Qo0 ER .
. L 9o ° Couo |
«7/““ e 0. © OO :o6 s,
. 9 . . P
AN o T
N

M10x25 @Q@J

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP BASE a/

CLOXX / FINNO ABC DATE: 19.11.2012 LA 2(3)

DET 13 DET 14 DET 15

=)

M16x7110
@30,/17x3

DET 17 DET 18
M12x35

Concrete
500x500x200

T

Harjoterds / Ribbed bar
(ABO0HW (2x))

DET 19
ATT

Drilling can
be done via
hole in rotating
flange.

DET 21

110

4 _
P ° oo o e OO°OQ o0
o o ooooooo Oog°© °
o o
eno <08 o OV 08
o8 °og ° 03

Concrete /
Betoni

o O o
Ogoo 80‘\
SN DI DNKON DN NN DN 0000800,
o
o
A

DET 22 DET 23
. 2107 90
(4x)
O
= ”L
/N
U et

S m}i T
Betoni /
Concrete

Safety surface

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP BASE »
CLOXX / FINNO ABC  pate: 19.11.2012 = 3(3)

DET 25 H DET 26 DET 27/

MTOx25
~ 909519 Concrete
500x500x200

I
)

77 7
AR AP IR A R R D I RIS
Y4 /////// ////// /é//// 7~ Z 2 5 4 Y ad /Q’\\ //Q
) N o 2y 27 2 ( )| | 7 Z z .
/// Vz 4 Yz 2 Zr 0 s 4 e 4 /// 4 % 2Ny s Vs v if’
. . S, oo, ” Z L 4
7 7 7, Y224 7 24 s °. Jr
° $20/105 |Z V%274 |5 07 Z U (e e
©\ QAN 4y Z 4 RN M// » %00a] [0 £ o
=71 . e NG E
= A E L sl
I ANV a7 II

Pee M0 RO

DET 28 DET 29  wmiox100 993555 |DET 30
904074

210 T 90 (3x) 5 004074

SV "/A%é 7
Concrete —
VAN

DET 31 DET 32 M1 0x100 DET 33
@10 T 90 (4x)

@10 T 90 (3x)

904031 204010

202

NN NN RN N o
Concrete ~

DET 34 DET 35 DET 36

Va

7

Z L 4 s ///4// 4

s s, Lo 07 Vs

s 7 4 g o0 02 Z

9519 Zn 2774 e O

e Vs V2 //// 'z O //

(=] / Y ) T, 7.
77 V24 Y24 77

©020/10.5 Z 4 % Z 2, 77 OlL
B Bl

7
@ > vz ///<\§/A

IR N 7 4
’:V\/'—'\ =
" M10x25 S

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP

PARTS

CLOXX / FINNO ABC pam: 129207 P LAY 1(3)
DET 1 DET 2 DET 3
M8x50 M8x60
902625
e
DET 4 DET 5 M12x110 |DET 6 M12x120
— 7/ 924/12

(
It
m CHAIN

CUT EXTRA CHAIN

0 —

CUT EXTRA CHAIN

/904801
907621

DET 7
M12x40

DET 8

NOTE:
Aluminum thread
fasten carefully.

903388

DET 9
/02850

NOTE:
Aluminum thread
fasten carefully.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP PARTS
CLOXX /FINNO ABC  opate: 1292017 P LAY 2(3)

DET 13 DET 14 DET 15 M10x40 (901487)

DET 16 DET 17/
M12x90

901994  ™w

905067/

05087

901958

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP PARTS L~

CLOXX / FINNO ABC DATE: 12.9.2017 PLAY 3(3)

DET 25—-26 Asennusjdrjestys: ~ DET 27
1) Pallo kiinni S

M12x120 2) Adapteeri sisddn { i

3) putki sisddn ja lopuksi

pallon lopullinen Kiristys.

904103

904100

218,10

904015
904102

Kun putken pdd osuu adapterin
kynsiin, adapteri tiukentuu paikoilleen.

1) Close the ball

2) Insert adapter

3) Insert tube and tighten
screws.

M10x80

DET 28 DET 29
906621

M12x35
(909347) |

(903149)

M10x50 (905140)
= @20/10.5x2 (901302)
M10 (909637)
M12 —> 60 Nm\i ;

DET 31 M2 0NN ) DET 32 M12—> 60Nm N DET 33

M12x30 M12x100
024 /13 \f

MT12

904801
/904428

904422

MWO—(>45ng ;

DET 34
904800

DET 36

D
i

M12x110

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP

701985

CLOXX DATE:  28.6.2007 LAY 1(1)
(1) 902094 res|(2) 909519 |pes
1

260x450 50x380x380 ]
(3) 909637 |pes|(4) 909638 |pcs|
i 4]

=
mMio | | @20/105 | |
(5) 909639 |pcs| pes|
4] -
MIOx25 | | N
Fe s
e e
P P

Z L ol |7 2 2 //Z/C/)/ V4
Y L1007 /
Y 74, VA Z
“nN| L,z Pt /////// 7 45O,
s o, VAN A 7
/// . 77 7 2 ///;ir %
Y e ;/////// 2 7 i
N4, & %%
ir\ |

DET 2

902094

M10x25
- 909519

@
(=

- ©20/10.5
e N

"~ MI0

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


11.5.2017

LAPPs

g ot
ity Mﬂnvmxm

o

123 po
RS oy
Tierg ,;“*"

o
Nz

LAp
g&llgie F:?s ET Groy
F'NLAI\TE?VAN'EW

123456

W4 py
F567g9

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit

- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 2 mukaisesti.

2) Tuotekylttitarra

- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 3 mukaisesti.

- Huom. Al3 kiinnita tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av féljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

-Rengérdenpulverlackerademetallytanellerlaminatytansaattdenblirfrifransmutsochfukt. Fastetikettenenligtfig. 3.
- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker

-Cleanthepaintedmetalorplywoodsurfacefromdirtandmoisture.Fastenthestickerasshowninthefigure3.

- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a l'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre séche (voir image 3).

- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliére ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben

- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-EntfernenSiezunachstSchmutzundFeuchtigkeitvomlackiertenMetallbzw.vonderHolzoberflacheundbringenSieden

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.

- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.



WINAM GROUP 902134
CLOXX DATE: 352013 =\ 41(2)
(1) 901803 |pcs|(2) 901994 |pes
5) B
DET 1, 2, 3, 4, 5, 6, (8) M

Mi12x90 | | @190 | |
(3 902096 [pes|(4) 902234 [pcs|
DET 8 O o

®/ S
. mizxizo | | w2 | ]

s

S

DO NOT TIGHTEN THE
JOINTS UNTIL THE
STRUCTURE IS COMPLETE.

)

PCS

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333


WINAM GROUP

902134 A2
CLOXX DATE: 3.5.2013 - 2(2)
DET 1 DET 2 DET 3
FIRST BOLT
FIRST BOLT INSTALLATION
% INSTALLATION Max. 20Nm.
KQNM.ZOMﬂ. ;
> wéffﬁ AN yé?é@

LAMINATE OR WOOD

(901803)

M12
(902234)

DET 4

901994

901994

Max. 20Nm.
M12x120
( )

INSTALLATION
Max. 20Nm.

M12x120

REMEMBER
FINAL
TIGHTENING

902096 (902096)
DET 7/ 902157/ or DET 8 902157/ or

904747 904747

FREE HOLE FREE HOLE

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINQS-0112285
Typewritten text
WINAM GROUP

WINQS-0112285
Typewritten text
WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




